# Form604

Corporations Act 2001 Section 671B

# Notice of change of interests of substantial holder

To Company Name/Scheme	5G Networks Limited	
ACN/ARSN	ACN 073 716 793	
Details of substantial holder (1)		
i. Details of substantial floider (1)		
Name	Boutique Capital Pty Ltd ATF Tectonic Opportunities Fund	
ACN/ARSN (if applicable)	ACN 621 697 621	
There was a change in the interests of the substantial holder on	the 11/07/2025	
Substantial Holder on	11/01/2023	

The previous notice was given to the company on 02/04/2025 The previous notice was dated 02/04/2025

# 2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice		Present notice	
	Person's votes Voting power (5)		Person's votes	Voting power (5)
Ordinary shares	46,400,000	15.44%	49,094,589	16.48%

### 3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme areas follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
See Annexure A					

#### 4. Present relevant interests

Particulars of each relevant interest of the substantial holder invoting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder(8)	Nature of relevant interest(6)	Class and number of securities	Person's votes
Tectonic Opportunities Fund	Interactive Brokers	1 1 1	Fund Manager with power to exercise control over voting shares	49,094,589 Ordinary	49,094,589

# 5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9), with, the substantial holder in relation to voting interests in the companyor scheme areas follows:

Name and ACN/ARSN (if applicable)	Nature of association
N/A	

# 6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Boutique Capital Pty Ltd ACN 621 697 621	Level 16, 101 Miller Street, North Sydney, NSW 2060

0			4	
5	ıa	na	ıtı	ıre
•	. 3			4.0

Print name Timothy Baker capacity Managing Director

sign here date 14 July 2025

**Annexure A**This is Annexure A of 1 page referred to in the accompanying Form 604

	Buy Buy Buy Buy	-2,095,076 15,076 24,199 25,000	0.139 0.134 0.135 0.135	290,392.36 2,023.58 3,265.30
24-Apr-25 24-Apr-25 7-May-25 8-May-25 9-May-25	Buy Buy Buy	24,199 25,000	0.135	3,265.30
24-Apr-25 7-May-25 8-May-25 9-May-25	Buy Buy	25,000		
7-May-25 8-May-25 9-May-25	Buy		0.135	2 255 22
8-May-25 9-May-25		(5 (00		3,375.00
9-May-25	Day	65,690	0.135	8,850.65
	Duy	3,552	0.135	479.52
	Buy	28,323	0.140	3,965.22
12-May-25	Buy	21,677	0.140	3,034.78
12-May-25	Buy	31,559	0.145	4,576.06
12-May-25	Buy	100,000	0.145	14,500.00
12-May-25	Buy	11	0.140	1.54
13-May-25	Buy	19,989	0.145	2,898.40
13-May-25	Buy	28,134	0.140	3,938.76
13-May-25	Buy	50,000	0.145	7,250.00
13-May-25	Buy	400	0.145	58.00
14-May-25	Buy	35	0.140	4.90
14-May-25	Buy	50,000	0.145	7,250.00
14-May-25	Buy	200,000	0.145	29,000.00
14-May-25	Buy	70,295	0.145	10,192.78
15-May-25	Buy	29,705	0.145	4,307.22
		50,000	0.145	7,250.00
·	•	64,055	0.145	9,287.98
		200,000		30,000.00
	· ·	56,048		8,407.20
	•			6,592.80
				1,096.49
·	•			14,007.30
	•	·		4,399.36
	-			8,492.70
·	•			15,000.00
	-			329.44
·	•	·		3,089.55
·	•	·		8,784.30
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2-May-25 2-May-25 2-May-25 3-May-25 3-May-25 3-May-25 3-May-25 4-May-25 4-May-25 4-May-25 5-May-25 5-May-25 6-May-25 6-May-25 9-May-25 9-May-25 9-May-25 0-May-25 0-May-25	9-May-25 Buy 2-May-25 Buy 2-May-25 Buy 2-May-25 Buy 2-May-25 Buy 3-May-25 Buy 3-May-25 Buy 3-May-25 Buy 3-May-25 Buy 4-May-25 Buy 4-May-25 Buy 4-May-25 Buy 5-May-25 Buy 5-May-25 Buy 5-May-25 Buy 6-May-25 Buy 9-May-25 Buy	2-May-25 Buy       21,677         2-May-25 Buy       31,559         2-May-25 Buy       100,000         2-May-25 Buy       11         3-May-25 Buy       19,989         3-May-25 Buy       50,000         3-May-25 Buy       400         4-May-25 Buy       50,000         4-May-25 Buy       50,000         4-May-25 Buy       200,000         4-May-25 Buy       29,705         5-May-25 Buy       50,000         5-May-25 Buy       50,000         5-May-25 Buy       50,000         6-May-25 Buy       50,000         6-May-25 Buy       56,048         9-May-25 Buy       7,562         9-May-25 Buy       93,382         9-May-25 Buy       93,382         9-May-25 Buy       28,383         0-May-25 Buy       56,618         0-May-25 Buy       56,618         0-May-25 Buy       20,597	2-May-25 Buy       21,677       0.140         2-May-25 Buy       31,559       0.145         2-May-25 Buy       100,000       0.145         2-May-25 Buy       11       0.140         3-May-25 Buy       19,989       0.145         3-May-25 Buy       28,134       0.140         3-May-25 Buy       50,000       0.145         3-May-25 Buy       35       0.140         4-May-25 Buy       50,000       0.145         4-May-25 Buy       50,000       0.145         4-May-25 Buy       200,000       0.145         5-May-25 Buy       70,295       0.145         5-May-25 Buy       50,000       0.145         5-May-25 Buy       50,000       0.145         6-May-25 Buy       50,000       0.145         6-May-25 Buy       50,000       0.145         6-May-25 Buy       200,000       0.150         6-May-25 Buy       56,048       0.150         9-May-25 Buy       7,562       0.145         9-May-25 Buy       28,383       0.150         0-May-25 Buy       56,618       0.150         0-May-25 Buy       56,618       0.150         0-May-25 Buy       20,597

Symbol	Trade Date	Туре	Quantity	Price	Proceeds
5GN	21-May-25		197,728	0.145	28,670.56
5GN	21-May-25		50,000	0.150	7,500.00
5GN	21-May-25	•	35,000	0.150	5,250.00
5GN	21-May-25		42,000	0.150	6,300.00
5GN	22-May-25		25,972	0.145	3,765.94
5GN	22-May-25	Buy	49,300	0.144	7,122.47
5GN	22-May-25	Buy	50,000	0.145	7,250.00
5GN	22-May-25	Buy	50,000	0.145	7,250.00
5GN	23-May-25		45,735	0.145	6,631.58
5GN	26-May-25	Buy	54,265	0.145	7,868.42
5GN	26-May-25	Buy	50,000	0.145	7,250.00
5GN	26-May-25	Buy	45,000	0.145	6,525.00
5GN	29-May-25	Buy	5,973	0.145	866.08
5GN	2-Jun-25	Buy	49,027	0.140	6,863.78
5GN	11-Jun-25	Buy	193,341	0.140	27,067.74
5GN	12-Jun-25	Buy	14,599	0.140	2,043.86
5GN	12-Jun-25	Buy	149,157	0.145	21,627.77
5GN	13-Jun-25	Buy	23,891	0.145	3,464.20
5GN	13-Jun-25	Buy	292,060	0.150	43,809.00
5GN	16-Jun-25	Buy	26,952	0.140	3,773.28
5GN	16-Jun-25	Buy	65,206	0.145	9,454.87
5GN	17-Jun-25	Buy	38,285	0.145	5,551.33
5GN	18-Jun-25	Buy	2,434	0.145	352.93
5GN	19-Jun-25		78,856	0.145	11,434.12
5GN	20-Jun-25	Buy	15,219	0.145	2,206.76
5GN	24-Jun-25	Buy	42,985	0.140	6,017.90
5GN	25-Jun-25	Buy	57,015	0.140	7,982.10
5GN	25-Jun-25	Buy	100,000	0.140	14,000.00
5GN	26-Jun-25	Buy	100,000	0.140	14,000.00
5GN	26-Jun-25	Buy	100,000	0.140	14,000.00
5GN	27-Jun-25	Buy	50,000	0.140	7,000.00
5GN	30-Jun-25	Buy	250,000	0.140	34,950.00
5GN	30-Jun-25	Buy	100,000	0.140	14,000.00
5GN	30-Jun-25	Buy	8,056	0.140	1,127.84
5GN	1-Jul-25	•	91,944	0.140	12,872.16
5GN	3-Jul-25	Buy	100,000	0.135	13,500.00
5GN	3-Jul-25	Buy	100,000	0.140	14,000.00
5GN	3-Jul-25	•	100,000	0.135	13,500.00
5GN	7-Jul-25	•	60,521	0.135	8,170.34
5GN	8-Jul-25	•	39,479	0.135	5,329.66
5GN	8-Jul-25	•	100,000	0.135	13,500.00
5GN	10-Jul-25	•	56,433	0.135	7,618.46
5GN	11-Jul-25		37,280	0.135	5,032.80
5GN	11-Jul-25	•	6,287	0.135	848.74
5GN	11-Jul-25	•	83,696	0.135	11,298.96
5GN	14-Jul-25	Buy	10,893	0.135	1,470.56